PTA®DE

Avwovz 1, 23—t
BAMESE-—~N RIEZEN R BR/NB | B | B | JE6L
1| Btess—h 2-) 02| 2-b| 5|,
DLy \\
2 RIRFERN [ - b < 2-0| 20 5 ‘f 4
BlBHL | 5 g ped | S| 2-0| 2/ |2
alwwns |, 5,2 02 \ o |3 %
B7ovs 3, 43— b
WERAN | RRUNA | BN | PRUNC | B | B R
1| EERE/N O | 0-a S 2| p| 3|
\\\\
2 ["PRNA ) o ~ 20| &0 3|0 /
3 | s 20 p-2| .| &2 sl
SURHAC | 3 f s 2D >/ 2
AR
D2-3 ®1-4 ®2-4 ®1-3 ©3-4 ®1-2



75T O

A7ty 5~8T—h
P v S o A e N 207 o I - = R (17
@ TA-RG- s-0|l3-Cl2-3 x|/ | *
2 | s o3 ~_|2-2|/ -3 /= 3
3 | i o-3| 2-3 \\\ 6-3 | o d | &
djvivE=|3 -2 3= 3-0 "~ 13| 5|y
B7ovs 9~10a—Fh
B BIESE | Ty B | & | MEAE
© | Wi ~_ | o3 | /-3 p| |3
2 | IR 3 -0 ‘\\\\\ -0 xle |/
3 |5y 3./ 1 6-3 1 |,/ s
C7uoyz 11~127—}h
UOFbh | TA e B B | L
© | 0Ebb T~ |3 -0 | 3 - [ s ’
2 | s & - 3 ~_| 3 —d | |/ S
3 | Mz /-3 2-3 \‘\\\ o | | 3
D7my 7 13~143— |
Sy¥— | NTC.B|7n-2n4| B | & | B
O|5y¥F- ‘\\\\\_ et | 20| > 0 ¢
2 |NTC.B | 4. 3 I, St RV RV
3|zl p v 3| 2-3 [ o x|
E7avyy 15~16a— )
TJUUR | Frxy— | BENE B | B | B
Ol Tvyr | T~ | /"3 -3 0| 2|3
2 #vxy— 3= £ | T~ 3-2| 2 0| ¢
s \mepm | 3 -/ 2-3 ~ | sl /] >




75T D

F7ovy7 17T~18a—%

MTC SENSHIN [/ i

il

LS0A

ojMre | T~ | p-F| s 2|2

2 | SENSHIN 3 -0 \\\\.gkwﬁ e
3 |y 3 - ;“5 g . o r\\\ﬁ_.\\“_w 2l ool s

G7oy 7 19~203—F

| HpkNACO | ™ | e | & -3 4] 3

kS P

2 NTC.A | 5 -3 | " | 2 | ¢] ¢

3

>
3| aAvk 3 -0 | 2-3 | T | ¢|¢ /

@~w§ "

H7avy 7 21~22a—}

by A= BB BE

it
=
=

O by7A-N S | a3 | 63 x| 7
2|@sy |3 -+ | e | p-J 3

% ~ D | ¥
N

3 ﬁgy 5 - ﬁ § w {:j ) ‘\,\\\ .

S
S

I 7oy 7 23~243—1

FELA | RIFAL | TR

&
s

WEAE

@ TF5A 3 rd | 2= | 47| A
2| RCEHAB | 3.3 | T~ | 2 -3 5| 4| 3
Bli=7nxl 3. ol | | ale|s




PTADE sk —F 4> b

o g R A 1 1
RO 5 1R i
B2 2 ——
W 7T )¢
7 A2 83—
";‘j ,;L/, '
T
;30 AR Q—

3 i p 52 Bk

ZIEE N A3 T

e N e 2—

\ ! ~ A4 3w

7 //qu /.) \ l" ’
W e
T RN B3 4——




75708 #EEN—FA Db

- Al
AT
- 12
REES
.7 o H 2
Sy
B1
\{;T;; \T
G 2
NTC A
o i C1
A 7dﬁ‘//
. F2
SEVSHIN
B D1
i
a7 A3
L g7
. B 3
7% 0
C 3
] d~7
R D3
Tiv = A7
E 3

—10

11

13

————14

—16

s ¥

E

1 o2
D2

F1 =

C 2

G1

B 2

H1

A2

I1

F3

G3

H3




